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Question 1

A) 216081
B) 205081
v C) 196081

D) 106 081

Question Type:

Date Added:
Last Modified:
QID#:

Question 2

A)

e

Randomize Answers:

206 081 is 10 000 more than

Multiple Choice
No

Fri 10th Sep 2021
N/A

28,974,822
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 3

A) 4.04
B) 4.08
C) 432

v' D) 4.40

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 4

Muiltiple Choice
No

Fri 10th Sep 2021
N/A

28,974,831

Multiple Choice
No

Fri 10th Sep 2021
Fri 10th Sep 2021
28,974,836

B
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I Ehe umier line Baiow, wihat s the vaiua of tha missing number?
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 5

car park?

A) 120
v/ B) 180
C) 200
D) 240

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 6

ClassMarker - Manage Test

Multiple Choice
No

Fri 10th Sep 2021
N/A

28,974,846
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There are 300 vehicles at a car park. 60% of the vehicles are lorries. How many lorries are there at the

Muiltiple Choice
No

Fri 10th Sep 2021
N/A

28,974,851
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Which one of the following ratios is in the simplest form?

v A)
B)
C)
D)

9:56
8:42
7:28
6:27
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Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Fri 10th Sep 2021
Last Modified: N/A

QID#: 28,974,855

Question 7

Tram 9 00 to 13 00,

Use ftws graph below bo arswer quasticns T and B,
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A tank was compiletely filled with water af 09 00. Waler was drined out of the
1@k frofm OF 00 to 13 0L Tre line graph shows thi veioms of waser k) in the tonk

Question 8

A) From 09 00 to 10 00
B) From 1000 to 11 00
C) From 11 00 to 12 00

120 - =
-
E oy
100
T
Amoued RO .
el waber in e
Ihss bank:
o
{f an iy
£ -—
40 —2m
20
o3 o 10 Do 11 00 (Fei] 13500
Thrmes
Wihat s th cspaciy of tha isnk?
A) 40
B) 72
v C) 112

D) 120
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,974,859

Primary 5 Maths » Primary 5 Maths (Term 4)

In which of the following periods was 12 litres of water being drained out of the tank?
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 9

Express 60 050g in kg

A) 6.005kg
v B) 60.05kg
C) 60.5kg
D) 600.5kg

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 10

v’ D) From 1200 to 13 00

Multiple Choice
No

Fri 10th Sep 2021
N/A

28,974,867

Muiltiple Choice
No

Fri 10th Sep 2021
N/A

28,974,871

A) B
B) C
v C) D

Romd 8
y
Ah:ﬂwm-dahmﬂnuﬂﬂﬁulmtaﬁhnﬂm
ancther road, | facod
noriteeast. Which road did 1t buirn inko?
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D) E

Question Type:

Randomize Answers:

Date Added:
Last Modified:
QID#:

Question 11

Multiple Choice
No

Fri 10th Sep 2021
N/A

28,974,875
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Ting had 40 fifty-cent coins and 30 twenty-cent coins. She exchanged all her coins for some two-dollar
notes. How many two-dollar notes did she exchange all her coins for?

v A) 13
B) 26
c) 35
D) 52

Question Type:
Randomize Answers:

Date Added:
Last Modified:
QID#:

Question 12

Multiple Choice
No

Fri 10th Sep 2021
N/A

28,974,882

Primary 5 Maths » Primary 5 Maths (Term 4)

Matt had 80 game cards and Oscar had 60 game cards. Oscar gave 10% of his game cards to his
cousin. What was the total number of game cards Matt and Oscar had in the end?

A) 86
B) 126
c) 132

v' D) 134

Question Type:
Randomize Answers:

Date Added:
Last Modified:
QID#:

Question 13

Multiple Choice
No

Fri 10th Sep 2021
N/A

28,974,890

Primary 5 Maths » Primary 5 Maths (Term 4)
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The tabls balow shows hmm&ﬂhﬂ city,

Mass slopupto | Postage rates of mail
260 g $1.00
L 5285 -
2k $3.45 7
Habe sent 2 mais of mass
of mass 100 g and 1200 g to differant places. How much did
she pay aliogether?
A) $4.75
v B) $4.15
C) $3.45
D) $3.35
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,974,898
Question 14 Primary 5 Maths » Primary 5 Maths (Term 4)

Hﬁurﬂﬂnnphﬂaﬂpﬂhrdﬂm over two days. On Fridoy, Kal faided 4 mone
paper stare than Dinny. On Saterday, Dinny folded anather 34 paper stars, Atthe

|
and of L
the bwo days, Kal folded Tﬂﬂliwm of paper slans, How marny
Paper atans did Kai fold?

A) 126
B) 72
v C) 54

D) 18
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,974,902
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Question 15

A piace of ibban, 270 cm long, & made up of white, grey and biack sagments
a8 shise below, Each segment 56 cm iong, The segments foliow 3 repeated
pultarmn, How many white segments ane thame?

v A 18
B) 27
c) 9
D) 108

Question Type:

Multiple Choice

Randomize Answers: No

Date Added: Fri 10th Sep 2021
Last Modified: N/A

QID#: 28,974,906

Primary 5 Maths » Primary 5 Maths (Term 4)

Question 16

In 2.516 which digit is in the thousandths place?

Accepted answers:

v 6

Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,974,915

Primary 5 Maths » Primary 5 Maths (Term 4)

Question 17
Find the value of 160+4x5+(19-3)

Accepted answers:

v 216
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Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,974,920

Correctly answered feedback

160+4x5+16
= 40x5+16
=200+16
=216

Incorrectly answered feedback

160+4x5+16
= 40x5+16
=200+16
=216

Question 18 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

A pleca ol clath wits cut inlo 20 equal pleces, Each plece was = L

4
Whot was the total length of the 20 pleces of cloth?

Accepted answers:

v 15

Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A

QID#: 28,974,925

Correctly answered feedback
3/4 x20 =15

Incorrectly answered feedback
3/4 x20 =15

Question 19 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

A book costs $56 before a 7% GST. How much is the GST?

Accepted answers:

$3.92
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Question Type:
Date Added:
Last Modified:
QID#:

330+30=11

330+30=11

Clue

1.9

ClassMarker - Manage Test

Free Text

Fri 10th Sep 2021
N/A

28,974,934

Correctly answered feedback

Incorrectly answered feedback

Question 21

Match the options below from the largest to the smallest:

Match

largest

https://www.classmarker.com/a/tests/test/?test_id=1812752&trk=edittest_inrow_edit

Primary 5 Maths » Primary 5 Maths (Term 4)

v
v $3.92
v 3.92
Question Type: Free Text
Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,974,929
Correctly answered feedback
56+100=0.56
0.56x7=3.92
Incorrectly answered feedback
56+100=0.56
0.56x7=3.92
Question 20
Mrs Aiken paid $330 to carpet a room with an area of 30m2. What was the cost of carpeting the room
per swore metre?
Accepted answers:
v 1
v s
v $11

Primary 5 Maths » Primary 5 Maths (Term 4)

1 pt

1 pt

10/35


https://www.classmarker.com/a/tests/qb/manage/?test_id=1812752&question_id=28974929
https://www.classmarker.com/a/tests/qb/manage/?test_id=1812752&question_id=28974929&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1812752
https://www.classmarker.com/a/tests/qb/manage/?test_id=1812752&question_id=28974934
https://www.classmarker.com/a/tests/qb/manage/?test_id=1812752&question_id=28974934&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1812752

9/20/21, 10:50 PM

Question Type:
Grade style:
Shuffle Mode:
Date Added:
Last Modified:
QID#:

the bouf

large

small

smallest

Matching

Full points if all answers are correct
Shuffle Matches Only

Fri 10th Sep 2021

N/A

28,974,945

Question 22

v 60
v’ 60cm3

v 60 cm3

Question Type:
Date Added:
Last Modified:
QID#:

3x4x5=60

Accepted answers:

Free Text

Fri 10th Sep 2021
N/A

28,974,950

Correctly answered feedback

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 4)

Tha figure below shows a rectanguiar glass box: pary filled with 1-cm ciilbes.
When the bax s cempletaly filled with the 1-cm cubes, what s the volume of

https://www.classmarker.com/a/tests/test/?test_id=1812752&trk=edittest_inrow_edit
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Incorrectly answered feedback
3x4x5=60

Question 23

in {he Bgure below, AB, CD and EF ase straight lines. Find .

ar

Accepted answers:

v 14

Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,974,958

Correctly answered feedback
180-99-67=14

Question 24

https://www.classmarker.com/a/tests/test/?test_id=1812752&trk=edittest_inrow_edit
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QID#:

Question Type:
Date Added:
Last Modified:

Essay

Fri 10th Sep 2021
N/A

28,974,964

Correctly answered feedback
1- LR 3

ClassMarker - Manage Test

« Tha Ngurs below & made up of squares. Shade four more: squares o form
& Eymmatric figure with AB as he lins of symmelry,
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Vhat is the total langth of the Aigus?

0.8 om 0.9 em
7
Accepted answers:

v’ 12.6cm
v 12,6 cm
v 12.6

Question Type: Free Text

Date Added: Fri 10th Sep 2021

Last Modified: N/A

QID#: 28,974,978

Correctly answered feedback

4.8-0.9-0.9=3
4.8+4.8+3=12.6

Incorrectly answered feedback

4.8-0.9-0.9=3
4.8+4.8+3=12.6

Question 26 Primary 5 Maths » Primary 5 Maths (Term 4)

1
A lank is 3 filled with water. VWhen 1536 mil of waler ks pourgd id, tha tank

"
1 1
bmman thdJ-hanmh:hﬂur&hhuhmmﬂhEﬂH?

Accepted answers:
v 2,048

v 2.048I
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v’ 2.0481

Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,974,993

Correctly answered feedback

1

A lank s 3 filled with water. VWhen 1536 mil of walar ks poured s, the tank

1
bmmu; mm.m-mummhumhmnummnh%ﬁm

Incorrectly answered feedback

1
A lank s 3 filled with water. VWhen 1536 mil of water b poured eud, the tank

1
bmmu; mm.mummmhmnmummnh%ﬂm

Thhrmhhdmﬂmﬂmmwmmﬂamm
meﬂlmmwmﬂmmmmﬁw
m@hhmnmﬂmnnmﬂ,,,!,, av.
;mmmmmw“w Diraw the bar in the

120

100

40 - =

HIH Eo—F

Accepted answers:
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1 pt
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v 50

Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,000

Correctly answered feedback
100 + 40 =140

140+2=70

70-20=50

Incorrectly answered feedback
100 + 40 =140

140+2=70

70-20=50

Qu estion 28 Primary 5 Maths » Primary 5 Maths (Term 4)

In the figure below, Rectangle X overaps Reclangls Y. The ratlo of the areg of
Rectangle X o the area of the shaded part 1o the area of Rectangle ¥ i
B:3: 12 Thearea of Rectangle X la 1200 em®. What is the area of the unshaded

part in Rectanghe ¥?
i
&
Accepted answers:
v 135
v’ 135cm2
v’ 135 cm2
Question Type: Free Text
Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,024

Correctly answered feedback

120+8=15
15x9=135

Incorrectly answered feedback
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120+8=15
15x9=135

Question 29 Primary 5 Maths » Primary 5 Maths (Term 4)

Mﬁwwm‘um¢m4ﬂmﬂw;@¢wsm along
the ina CO. What fracton of the figurs iz he shaded part? Lesve your answer
In the simplast form.,

Accepted answers:
v 718
v 718
v 78

v7/8

Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,036

Correctly answered feedback

4 1
—_— =
Z 8

3
1-

==
1
=l=

Incorrectly answered feedback

4 1
—.=-.
32131
i

https://www.classmarker.com/a/tests/test/?test_id=1812752&trk=edittest_inrow_edit
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Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Question 30
Elix wrote a whole number and listed all the factors. The number that she had written has exactly six
factors. Two of the factors are 3 and 9.

The smallest possible number that Elix had written was 18

v A) True

B) False
C) Not possible to tell

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Fri 10th Sep 2021
Last Modified: N/A

QID#: 28,975,073

Question 31 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt
The sum of all the factors of the number written by Elix is 30
A) True
v B) False
C) Not possible to tell
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,080
Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

Question 32

Je Bin baked it 4

308 of therm were cheesa cakes, Mmummhﬁh.m,m

Accepted answers:

v 484

Question Type: Free Text
Date Added: Fri 10th Sep 2021
Last Modified: N/A
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QID#: 28,975,273

Correctly answered feedback

‘7
11 11

308+7=44
44x11=484,

Incorrectly answered feedback

4 7

rl'_=_"

11 11
30B+7=44

44x11=484

Question 33 Primary 5 Maths » Primary 5 Maths (Term 4)

There were some cones and 106 hula hoops in a PE storeroom. 22 cones were damaged and thrown
away. Then the ratio of the number of the hula hoops to the number off cones was 2:1. How many
cones were there in the storeroom at first?

Accepted answers:

v 75

Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,335

Correctly answered feedback

106+2=53
53+33=75

Incorrectly answered feedback

106+2=53
53+33=75

Question 34 Primary 5 Maths » Primary 5 Maths (Term 4)

https://www.classmarker.com/a/tests/test/?test_id=1812752&trk=edittest_inrow_edit

1 pt

1 pt
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A eubold of height 19 cm has a square base of side 8 cm. What Iz B volume?

18 em

Gom

Accepted answers:
v 684
v’ 684cm3

v’ 684 cm3

Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,341

Correctly answered feedback
6x6x19=684

Incorrectly answered feedback
6x6x19=684

Question 35 Primary 5 Maths » Primary 5 Maths (Term 4)

The figurs below shows a tlangle ABC. £ABC = 282° Find the sum of 2 BAC
mred £ BCA

gL

)

https://www.classmarker.com/a/tests/test/?test_id=1812752&trk=edittest_inrow_edit
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Accepted answers:

v 102

Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,345

Correctly answered feedback

360-282=78
180-78=102

Incorrectly answered feedback

360-282=78
180-78=102

Question 36 Primary 5 Maths » Primary 5 Maths (Term 4)

At first, the average amount of water in two pails A and B was 471cm3. Some water was poured into B.
Then the average amount of water in A and B became 976cm3. How much water was poured into B?
Accepted answers:

v 1010

v’ 1010cm3

v 1010 cm3

Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,355

Correctly answered feedback
471x2=942

976x2=1952
1952-942=1010

Incorrectly answered feedback

471x2=942
976x2=1952
1952-942=1010

Question 37 Primary 5 Maths » Primary 5 Maths (Term 4)

https://www.classmarker.com/a/tests/test/?test_id=1812752&trk=edittest_inrow_edit

1 pt

1 pt
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1
ﬂmmﬂmdﬂﬂﬂﬂﬂha of thie total mass of 1 suchsispler and 10 identlcal arasers.

Tz tetal mass of 3 such slaplers and 20 such erasers s 1580 g. What I the mass
ol 1 such staplar?

Accepted answers:
v 120g
v 120 g

v 120

Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,358

Correctly answered feedback
1560+13=120

Incorrectly answered feedback
1560+13=120

Question 38 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

ﬂwxmm*iWhumﬁpﬂﬂmmmm. Mrs Ota planned 1o |
buy 32 such mugs from Shop X, m:wwmmmhmﬂumwu
of mugs at 8 lower prica from Shop Y. Bho saved 540 an the same number of mugs
How much did she pay for sach muy? I

Shop X Shap ¥

AT Avivaiiviviviy.
Avaviviiiviviyiy.

B miigs
for 350 Enjey greal savings on musgs!

Accepted answers:

v'5
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Question Type:
Date Added:
Last Modified:
QID#:

32+8=4
50x4=200
200-40=160
160+32=5

32+8=4
50x4=200
200-40=160
160+32=5

Free Text

Fri 10th Sep 2021
N/A

28,975,364

Correctly answered feedback

Incorrectly answered feedback

Question 39

Tha table balow showe the price of tickats to walch & puppel ahow, The weshday
price and the weekend price of a child’s Bicket ks smudged with ink. A child's tckat

cosls 5T 80 hmm.uaph:lqﬂm o Waaisiaaned,

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 4)

Last Satiuckay, Mrs Pong wen! to watch the puppat show with her TO-year-cld father
ard her 8-yeac-old daughter. She paid a ot amount of $56.60 for the tickes,
i the: family wers to walch the show on a Thursday, how much would Mrs Pong pay

for har daughter's iekat?

Accepted answers:

v’ $6.80
v $6.80

v 6.80

Question Type:

Date Added:
Last Modified:
QID#:

Free Text

Fri 10th Sep 2021
N/A

28,975,372

Benior Cilizens Children
Adults {85 years (3 years old to
and abova) 12 yoare old)
Weakdeys | $11.50each %8.50 each
Weskerds | 23400 each - §18.00each
- E 14 b0

https://www.classmarker.com/a/tests/test/?test_id=1812752&trk=edittest_inrow_edit

1 pt
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Correctly answered feedback

56.60-24-18=14.60
14.60-7.80=6.80

Incorrectly answered feedback

56.60-24-18=14.60
14.60-7.80=6.80

Question 40 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt

At Shinee Sparkle Store, the usual price of a necklace was $1290. During a sale, Laurice bought the
necklace at a discount of 38%. As Laurice was a member of the store, she was given an additional $15
discount off the price of the necklace after the 38% discount. How much did Laurice pay for the
necklace in the end?

Accepted answers:
v $784.80
v $784.80

v’ 784.80

Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,390

Correctly answered feedback

1290+100=12.90
12.90x38=490.20
1290-490.20=799.80
799.80-15=784.80

Incorrectly answered feedback

1290+100=12.90
12.90x38=490.20
1290-490.20=799.80
799.80-15=784.80

Question 41 Primary 5 Maths » Primary 5 Maths (Term 4) 1 pt
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- In'the figure below, ABCD is o rectangle and ABE is a righl-angled triangie with aides
messuring 27 om, 36 om ard 45 cm, The permeter of the shaded parl is 3.08 m.

What i the area of the shaded parl?
A o
&
45 cm
&
a8 [+

Accepted answers:

v 4014

Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,408

Correctly answered feedback

» 3.08m=308cm
(308-36-27-45)+2=11
Lx27x36=486

100x45=4500

4500-486=4014

Incorrectly answered feedback

. 3.08m=308cm
(308-36-27-45)+2=11
15x27x36=486

100x45=4500

4500-486=4014

Question 42 Primary 5 Maths » Primary 5 Maths (Term 4) 0 pts
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In the: grid below, JK ks one side of an iscsceles triangle.

- ¢ ¥ L] L] ¥ ¥
" - . L L]

L] - - . - " -
2 = " " .

" % . = . ] .
* L L L] -

L] - ¥ - = . .
L] - 5 : -

L] L] L] & ™ M = & - .
Ll W & - " - . " i

B L] L] [] B - & » = =
] L] L ] W " E - . -

L] L] L] " W . " & o .
L] L] - ™ " » # & &

L] - - W M » - & . "

{2) Draw and complets triangle JKL. from the given Line JK.
Labei the triangle JKL 21

Question Type: Essay

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,415

Correctly answered feedback

Incorrectly answered feedback

https://www.classmarker.com/a/tests/test/?test_id=1812752&trk=edittest_inrow_edit 26/35
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Question 43 Primary 5 Maths » Primary 5 Maths (Term 4) 0 pts

b) From K, draw a line to divide triangle JKL, into two triangles of a different area

Question Type: Essay

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,421

Correctly answered feedback

Incorrectly answered feedback
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Question 44

v A) Women

B) Men

Question Type:
Date Added:

Last Modified:
QID#:

v 1425

Randomize Answers:

Question 45

Accepted answers:

ClassMarker - Manage Test

3

A totsl of SO0 women and men were not selsched for ths 27 round.
The numbar of waman who werne not selected waa the same as the nambar of men

who wers not selecled,
() Wam thare mare wormeh or more men who were salscted for the 2™ ound?

Multiple Choice
No

Fri 10th Sep 2021
N/A

28,975,432

b) Find the total number of women and men who took part in the quiz

https://www.classmarker.com/a/tests/test/?test_id=1812752&trk=edittest_inrow_edit

Primary 5 Maths » Primary 5 Maths (Term 4)

A group of wermen and men fook part in a qulz that consisted of teo rounds
3 2
g of the women and = of the men were not sslected for the 2% round,

Primary 5 Maths » Primary 5 Maths (Term 4)

0 pts

0 pts
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Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,434

Correctly answered feedback
900+300+225=1425

Incorrectly answered feedback
900+300+225=1425

Question 46 Primary 5 Maths » Primary 5 Maths (Term 4) 0 pts

ﬁem,m:m&ﬁaﬂmﬂmmﬂ:mdﬁfwhbm.

a
E“rpanm-plhli of the total cost of the massape chair Hhﬂpﬂdiﬁmm

paid, Ah:lﬂ:dﬂr Spenoer and Nigel pald 3703, Hmmhdﬂﬁruamhh
massage chair?

Accepted answers:

v 1403

Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,438

Correctly answered feedback

EHHL <
wﬁ-a:w $43

_““‘_Hr 36
z+ =11
9 36 36

$£793+13=61
$61x23=1403

Incorrectly answered feedback
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ClassMarker - Manage Test

El:!
“'u

_**_Hr 36
z =11
9 36 36

$£793+13=61
$61x%23=1403

Question 47

The bar graph befow shows the number of musabie masks denated by fve
Primary 5 classas to & children’s home. Every pupil in sach clase denaled

Primary 5 Maths » Primary 5 Maths (Term 4)

efher 2 masks or 3 masks,
LIt L T T T T I I I "
[ ‘ H
Primary 5§
Class & T
Il Bl i a
50 ® T T——
L1 Y oy
- . i :
i 4 BD 120

160

mmmmmmumnanmmmnumu

number of masks donaded by el fhe five classes?

A) 5A
v' B) 5B

C) 5C

D) 5D

E) 5E
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,445

Correctly answered feedback
(65+105+145+90+85)+5=98

Incorrectly answered feedback
(65+105+145+90+85)+5=98

https://www.classmarker.com/a/tests/test/?test_id=1812752&trk=edittest_inrow_edit
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v o

Question 48

Accepted answers:

Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,453

Correctly answered feedback

38x2=76
85-76=9
9+1=9

Incorrectly answered feedback
38x2=76

85-76=9

9+1=9

Question 49

ClassMarker - Manage Test

Primary 5 Maths » Primary 5 Maths (Term 4)

b) There are 38 pupils in primary 5E. Some of them donated 3 masks each. How many pupils donated
3 masks each?

Primary 5 Maths » Primary 5 Maths (Term 4)

A cuabical tank, Tark X of adge 17 om wiah Blled with water up o a height of 3 om.
A rectanguiar tank, Tank ¥ measuring 41 can by 36 om by 27 cm, was also filed
with some witer. The watnr kevel in Tank ¥ was the same ma the height of Tank X
() Whest weas the wokuma of weabes in Tank X af fusi?

&

e

amI

17 om
Tank X

Accepted answers:

.A“‘.

F e L LT T
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v’ 867

Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,456

Correctly answered feedback
17x17x3=867

Incorrectly answered feedback
17x17x3=867

Question 50 Primary 5 Maths » Primary 5 Maths (Term 4)

b) All the water from Tank X was then poured into Tank Y without any spilling. How much more water
had to be poured into Tank Y two that the water level was 2cm from the top?

Accepted answers:

v’ 10941

Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,463

Correctly answered feedback

41x36x17=25092
25092+867=25959
27-2=25
41x36x25=36900
36900-25959=10941

Incorrectly answered feedback

41x36x17=25092
25092+867=25959
27-2=25
41x36x25=36900
36900-25959=10941

Question 51 Primary 5 Maths » Primary 5 Maths (Term 4)

https://www.classmarker.com/a/tests/test/?test_id=1812752&trk=edittest_inrow_edit
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and R0 =RE. JOMMN = 88*, LEOT = 67 and 2 MNT = T9°.

(@) Fid 20PS,

Accepted answers:

v 78

Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,469

Correctly answered feedback

90-57=33
180-33-69=78

Incorrectly answered feedback

90-57=33
180-33-69=78

Question 52

b) Find TUS

Accepted answers:

v 110

Question Type: Free Text

Date Added: Fri 10th Sep 2021
Last Modified: N/A
QID#: 28,975,475
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180-68-69=42
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Incorrectly answered feedback
180-68-69=42
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Question 53

HMMWmmhhhﬂ.:—uﬂmm left the hall. After soma tima,

1
5 of the remaining giris lefl the hall,
(5) What fraction of the girls remained In the hall in the end?

Accepted answers:
v 6/25
v 6125
v 6/25

v 6/25

Question Type:

Free Text
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QID#: 28,975,479

Correctly answered feedback
12/50. = 6/25

Incorrectly answered feedback
12/50. = 6/25
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Question 54

b) After recess, 352 girls entered the hall. Then the total number of girls in the hall was twice the total
number of girls in the hall at first. How many were there in the hall at first?
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v’ 200
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50x2=100
100-12=88
352+8=4
4x50=200
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100-12=88
352+8=4
4x50=200
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